( FEBEU-T )

X12:60IC, 6F —AICKDIBETO~OZRE

SR/ —

BRI R

*J=J1 AJ—=F ElE -9 O-Q @O-@
F-LB @ ) ©® B | "R |
@ YOH (3 0—-2 1-2 0—-2 3
@ 0FEN- 2—0 2—0 2—0 1
@ N—R-Y3V 2—1 0—-2 1—1 2
*xJ=J0 B3I—=Fk 5l 60 @-60 D-6
F-LB @ ©® © B B | BRR |IEhT
@ RARUDO*ITp(H—=X AIT0O— 2—0 1-2 1—1 2
® TEMRBEESEEIS 0—-2 1—2 | 0—2 3
©® ~v-=JI 2—1 2—1 2—0 1
J—k
ok BB A B
B1HS 1300~1325 |0&END @-@ A—R—Y3V|THPENESSEILE 6-6 v—JL
E2HE 1325~1350 [YOH (3—) D-@ A—R—Y3V|HRLI*kI»(5-Z (ID- @6 V=TI
E3HE | 1350~14:15 [YOH (3—) D-@ OVFEDD | znoworeo-x «zo- as rumsmassuss

€

REE—FTAVE ) &U—TLR2F—ADSIE

J—51 11 OZHD 2 |
A o
=0 21 ZRUDO*IT»A(59—Z «I0O— O
: A2l 1B  OFho
J—H1 21 H—F—Y3Y S
B 1 O
-1 11 w—TL ~ R NI
AMBE 2KkLD TP(H-Z (IO- 2 —
FE31I
B2 ZRUD R T 749 —2
ZToZ
B1EE H—R—y3Y !



